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P022HE £ 18l ARSI
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8 711 203 (B9 & 2)
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= | 5,309, 151 5.306, 100 3,051
700 2EALS U2 4,691,605 4,688,554 3,051
710 2E4+YS 43,051 40,000 3,051
711 24012 16,783 40,000 ~23,217
711-01 £ M H Y02 16.783 40,000 ~23,217
<=xNuY > 16,783 40,000 ~23,217
O=HH 20i3 16.783 40,000 ~23,217
712 MAS0/23 26,268 0 26,268
712-01 2NLEIASTY 21,013 0 21,013
<ExIHY > 21,013 0 21,013
OHZZ0HIS MBTY 21,013 0 21,013
712-02 Al - THIEXZ S A S SN 5,255 0 5,255
<=XFUD > 5,255 0 5,255
OBZZ0HIS MBTY 5,255 0 5,255
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ZH 5,309,151 5,306 3,051
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Al 4,691,605 4,688, 3,061
ES(SXNIHY)(ASSX/IN=HEB8EE) 43,051 40, 3,051
HXNE(AES003) 43,051 40, 3,051
gHEt = J| EF 43,051 40, 3,051
802 gt&t= DI Et 43,051 40, 3,051
01 I DNEBXSHE= 21,013 21,013
O=1Exsgte=s 21,013 21,013
02 Al - EHIEXZSEHEZ 5,255 5,255
OAN&EHIEXZ38E2 5,255 5,255
03 JIEtEtE 2 & 16,783 40, N23,217
OZEE A=2S0II= SE3H et 16,783 40, A23,217
0222 HEE RHOIS=2 S = e 16,783 40, N23,217
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